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76-A: We should look after our children.

B: Oh, yes. We may warn them, for example, ............... out in a storm.
1) go 2) to go 3) not go 4) not to go
77- Mr Brown gave his presentation ............... some audiences left the meeting.
1) in such an unclear way that 2) too unclearly
3) unclearly enough 4) so unclear that
78- Some major English poets are ............... interested in religious subjects, for example, Milton, Donne and Eliot.
1) so 2) such an 3) so much 4) too
79- If a hydrogen bomb is used, the world will realize to the full its ............... power.
1) fortunate 2) surrounding 3) destructive 4) predictive
80- I had a mechanic check my car the other day, but its engine is still making a strange ............... noise.
1) rattling 2) mild 3) exact 4) general

81- After the heavy snowfall, there were lots of cars packed together on highways like sardines, but traffic is now
flowing ............... again.

1) fortunately 2) smoothly 3) mainly 4) firmly
82- it Mr Alan gave an easy and short vocabulary quiz today, as we had forecasted.
1) Luckily 2) Actively 3) Particularly 4) Concernedly
83-A: I really like to know why even heavy things ............... easily in this sea.
B: It's easy to find out because it is so salty.
1) float 2) fell 3) flood 4) reduce
84- The most urgent thing in the UN is to ............... a meeting to provide necessary food and water for the
African people.
1) include 2) hit 3) hold 4) award
85- The SOS who entered into the building was only acting under ............... .
1) instructions 2) inaction 3) patterns 4) occasion

um Cloze Test

What should we do after an Earthquake? Well, first of all we should ...86... aftershocks. These secondary
shockwaves are usually less dangerous than the main quake, but can be strong enough to do additional ...87...
to weaken structures and occur in the first hours, days, weeks, or even months after the quake. Listen to a
battery-operated radio for the latest ...88... information. Use telephone only for necessary calls. Open cabinets
carefully and beware of ...89... that can fall off shelves. Help injured or ...90... persons and try to move them
to a much safer place.

86-1) expect 2) evaluate 3) experience 4) enhance
87-1) damage 2) department 3) mechanism 4) procedure
88-1) region 2) method 3) measurement 4) emergency
89-1) functions 2) dashes 3) issues 4) objects
90-1) shaken 2) tapped 3) trapped 4) stretched

mm Reading Comprehension

m Passage 1:

In the twentieth century, people are dependent on unlimited energy to power their everyday lives. A wide
range of useful devices, modern and comfortable things are available , also it may seem that we will never be
in danger of living without those comfortable things. The fact is that many supplies of energy are decreasing
rapidly. Scientists are constantly searching for new sources of power to keep modern society running.
Whether future populations will continue to enjoy the advantages of energy will depend on the success of this
search.

Coal, oil, and natural gas supply energy for the modern civilization. However, not only are supplies of
these fuels limited, but they are a major source of pollution. If the energy needs of the future are to be met
without serious harming the environment, existing replaceable energy sources must be improved. These
include nuclear, water, solar, wind, and geothermal power, as well as energy from new nonpolluting types of
fuels. Each of these choices, however, has advantages and disadvantages.

Nuclear power stations efficiently produce large amounts of electricity without polluting the atmosphere,
however, they are costly to be build and maintained. On the other hand what to do with nuclear wastes is
another problem. Hydroelectric power is inexpensive and environmentally safe, but impossible for societies
located far from moving water. Controlling energy from water has similar problems.

Solar power is suitable for the future, but methods of collecting and concentrating sunlight are as yet
inefficient, as are methods of controlling wind power.

Every source of energy has its disadvantages. One way to minimize them is to use less energy.
Conservation efforts were done with renewable energy resources, such as combination of solar, water, wind,
and geothermal energy and "replaceable fuels" such as alcohol and "hydrogen" that will ensure supplies of
clean, cheap energy for humanity's future.
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91- The passage suggests that ...............
1) people use energy without giving great thought to where it's coming from.
2) the search for energy sources was a problem in the past
3) scientists believe we have to maintain any energy.
4) modern societies need a lange amount of energy to keep them running.
92- It can be inferred from the passage that ...............
1) most replaceable energy sources are impossible to use.
2) many replaceable energy sources are dangerous.
3) nuclear power solves one problem while creating others.
4) solar and wind power are not suitable for the future.
93- According to the fourth paragraph to solve our energy problems ...............
1) we will have to stop using our modern things.
2) scientists will have to find a new nonpolluting energy.
3) scientists will have to find ways to increase natural gas.
4) a combination of conservation and invention will be needed.
94- It is not clearly stated in the passage, but we can understand that ...............
1) the search for replaceable energy sources is not over.
2) our present energy sources are being replaced every year.
3) people rely on limited energy to power their everyday lives.
4) needs for energy in the future are probably to decrease.
95- The passage says that ...............
1) building a nuclear power station needs little money.
2) maintaining a nuclear power station requires no effort.
3) removing nuclear wastes can be done easily.
4) reducing disadvantages of any source of energy is through reasonable use of it.

m Passage I1:

Skiing has become a way of life for many people. From the moment the first snowflake falls until the
spring days, skiers put their skis on their cars and go for the slopes. There are many reasons behind the
popularity of this winter sport. Skiing is a true family sport that can be enjoyed by all people, whether 3 or 93
years old. Being able to come down a hill, to breathe fresh air and enjoy nature at its loveliest are fun for all
age groups. Skiing is also interesting because it provides a variety of experiences.

Snow conditions change hourly as the temperature and weather conditions change during the day.
Besides, every trail is different. Hardly does one pass over the same place twice.

Improvements in ski equipment, clothing, and ski areas have made the sport more enjoyable, comfortable
and available. Warm, light, down-filled clothing has replaced heavy sweaters. Ski equipment made with
modern materials has made skis and poles lighter, more flexible, and suited to people of all ages and abilities.

Even in areas of the country that have very little snowfall, snow can be made if the temperature is below
32 degrees. For many people, skiing is a chance to enjoy the beauty of the out-of-doors, to feel their physical
abilities, and finally, to simply have fun. It is a sport enjoyed worldwide and appears to be gaining popularity
constantly.

96- What is the main topic of the passage?

1) How can we get skiing clothing? 2) The way we should get training course.
3) The probable dangers of this enjoyable sport. 4) The reason why skiing is a popular sport.
97- All of the following make skiing enjoyable for all ages "EXCEPT" ...............
1) being with a large number of skiers. 2) being able to come down a hill.
3) enjoying nature and having fun. 4) breathing fresh air.
98- According to the passage, the writer doesn't talk about ............... .
1) ski equipment 2) ski clothing 3) different trails 4) places to ski

99- Which of the following best describes the organization of the passage?
1) the writer shows the advantages and disadvantages of skiing.
2) the writer describes skiing.
3) the writer explains the popularity of skiing and give reasons.
4) the writer describes the different types of skiing.

100- The paragraph following this passage probably can be ............... .
1) snow making 2) skiing accidents
3) the cost of skiing 4) ski places around the world
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